








General informationPlease read

４

PBU-60 Components

#

10

11

12

13

14

15

16

17

18

19

20

Head  

Screw bolt for neck connection 
M10×15

M 6×60

M12×20

M 6

M 8×10

 ４

(lateral side) 

(medial side) 

(lateral side) 

(medial side) 

Parts name QTY #

#

Parts name QTYParts Parts 

Connector for right hip joint 

Connector for left hip joint 21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

Screw bolt for neck connection  M12 

Screw bolt for shoulder connection 
Screw bolt for parts  

Screw bolt for elbow joint

Screw nut for elbow joint 

Screw bolt for hip joint  M8×35

Screw bolt for knee joint 

Height adjustment panel 

Connection tape for the patellae 

Base panel 

Neck connector 

Neck connector �xture 

Screw for �xture 

Screw bolt   M6×18

Neck-head connection plate 

Trunk 

Right upper arm 

Left upper arm 

Right forearm 

Left forearm 

Right thigh 

Left thigh 

Right lower leg 

Left lower leg 

Right patella 

Left patella 

Connector for shoulder A 

Connector for right knee

Connector for left knee

Connector for right elbow 

Connector for right elbow 

Connector for left elbow 

Connector for left elbow 

1 1

1

1

1

1

1

1

2

2

2

2

10

4

4

6

1

1

1

1

1

1

1

1

1

1

2

2

1

11

1

1

1

1

37

38

39

40 1

1

1

2

3

4

5

6

7

8

9

Hand positioning belt

Supporting plate for right hip joint

Supporting plate for left hip joint 1

1

22.23

(Right or left)
Connector for shoulder B 

(Right or left)



５

Assembly manual

The number indicated on the photos above correspond to the page 
numbers in this manual. 

 

P.5
P.6

P.6

P.8

P.6

P.6

P.8

P.7

P.9

P.9

P.7







８

Assembly manual

< >

M12×20×4

KNEES

1. Connect the  thigh (#8, 9) and lower leg (#10, 11) at the knee joint. Insert the dowel of the
upper thigh through the hole of knee joint of lower thigh. Set the connector for knee (#24, 25)
to the medial side then screw the knee joint bolt (#32) to �x it.

2. After �xing the knee joint, bend the knee and insert the connection tape of the patella (#12, 13)
　to the guide aperture of the thigh.

Screw bolt for 
knee joint 32

8

9

24 25
32

1312

10 11

Insert the dowel of the upper thigh through 
the hole of the knee joint of lower leg.

Screw bolt for 
knee joint 



９

Assembly manual

<  >HIP JOINTS

1. Remove the three bolts (part #31) to
remove the hip joint connectors (parts
#20 and #21). The supporting plates
(parts #22 and #23) are already attached
at the time of delivery.

2. Mount the thighs (part#8, 9) so that the femur heads �t in the hip sockets and hold them
in place with hip joints connectors (part# 20,21).
Each hip joint connector is �xed to the trunk with three screws. Start from the screw in the
center and move to the sides. Hold the thigh upright when you �x the screw at the rear end.
Be careful not to confuse parts for left and for right.

Connector for left 
and right hip joint 

Left and right thigh 

Screw bolt for 
hip joint  
M8×35×6

Connector for left 
and right hip joint 

8  

31

21209

31

3

21 2320 22

31









仕 様

PH-2B CT撮影用全身ファントム  PBU-60

1

ご使用の前に ご使用前の確認と注意

形式：PBU-60
用途：撮影用人体ファントム
身長：約 165cm
体重：約 50kg
分割できる部位：頸部、両肩、両肘、両股関節部、両膝（10 分割）

可動する関節と可動範囲
　　両肩：前方向に 360°
　　　　　横方向に 180°
　　両肘：90°
　　両股関節：前方向に 90  、それぞれ 45°外転
　　両膝関節：90°

°

PBU-60は人体近似のX線吸収率をもつ軟組織代替材と人工骨格による等身大の全身ファントムです。
CT値を再現した脳および体幹部の臓器を内蔵しており、人体に近似した全身の画像データが得られる
X線CT撮影用のモデルです。四肢の主な関節は人体に近い可動域を持ち、様々な撮影ポジションの設定
ができます。また、分解してパーツごとに撮影することもできます。画像の障害になる金属の部品は
一切使用しいていません。頭部についてはポジショ二ング用のスタンドが付属しています。 

製品概要 

使用目的：X線単純撮影・X線CT撮影 

ファントム臓器：脳、脳血管 (左半分)、眼球、肺、気管、縦隔、肝臓、胆嚢、肝血管、
　　　　　　　　脾臓、膵臓、腎臓、胃、S字結腸、直腸、前立腺、精嚢、膀胱、尿管  
ファントム骨格：等身大人工骨格 

材　質：軟組織等価材（ポリウレタン樹脂）・骨等価材（エポキシ樹脂）
付属品：頭部固定用台 1 台
　　　　交換用ネジ・部品・膝蓋骨用バンド　1 式、マイナスドライバー　1 点
　　　　サンプル画像　1 式、手のポジション設定用ベルト　1 点

※ 運送中の気圧の変化による破損防止のため、予めボディ胸部に 3mm の穴を 
　 ２箇所設けています。



※ ※備 考

各臓器の周り全体の軟組織 8 相当

脳

（全体） 40 相当
脳室

脳血管
10 相当

280 相当
眼 球 20 相当
大 動 脈 40 相当
大 静 脈 40 相当

（第一分岐まで） －800 相当

8 相当

心 臓 40 相当
肺 血 管 8 相当 第四分岐まで再現

肋骨部の軟骨 90 相当
（全体） 70 相当

静脈と門脈を封入
血管 40 相当

※ 上記のCT値は目安として設定しているもので撮影の条件等により実測の値とは異なります

臓器関係のCT値

気管支

肝  臓

２

ご使用の前に ご使用前の確認と注意

臓器(臓器を構成する組織） 想定するCT値 備   考

胆 嚢 20 相当
膵 臓 30 相当
脾 臓 50 相当

腎  臓
（全体） 30 相当

血管 40 相当
尿管 10 相当

尿 管 10 相当
膀胱内 10 相当

膀胱壁 30 相当

精 嚢 25 相当
前 立 腺 50 相当

直 腸  壁
S字結腸壁 70 相当

70 相当

膀  胱

臓器(臓器を構成する組織） 想定するCT値

（第二分岐から
　第三分岐まで）

第一分岐までは発泡ウレタン
材を使用し、その先はパイプ
状で第三分岐までとする

模擬脳血管の設定
● 血管の太さ

◆ 前大脳動脈◆ 中大脳動脈

３～４φ

２φ

1.5φ

１φ
0.5φ



３

ご使用の前に ご使用前の確認と注意

ご確認ください

注 意

② このファントムは実際の臨床画像に比べ骨の輪郭がやや強調されるよう意図的に作られて
　 います。

③ 破損のおそれがありますので、ネジ部品は絶対に強くしめすぎないようにしてください。

④ 手の指は細く破損しやすいため、手につけているプラスチックのカバーは取り外さないで
ください。

① 破損のおそれがありますので、無理なポジショニングは絶対にしないでください。

② 破損のおそれがありますので、ファントムを移動させるときは必ず分解し、首や関節部分に
大きな力がかからないようにしてください。

⑤このファントムは、人体と同等の重量があり落下等すると非常に危険です。組み立てて使用する
場合や胴部を移動させる場合は、ケガをしないように必ず 2 名以上で取り扱ってください。

⑥サインペン、ボールペン等でモデルの表面に書き込みをしないでください。インクが吸収され消え
　 なくなります。

⑥ モデル表面に印刷物などが直接触れないようにしてください。樹脂にインクが転写され消えなくなり
　 ます。

③ ファントムには放射線に対し人体に近い特性をもった材質で作られていますが、構造上関節
部分の撮影条件は若干生体と異なります。

① 指骨、掌骨のみ骨梁を写すことができます。





５

 

P.5
P.6

P.6

P.8

P.6

P.6

P.8

P.7

P.9

P.9

P.7

組立について

それぞれの部位の組立は、上の写真で記したページを参照してください。
※各部品の外観は実際の商品とは異なる場合もあります。予めご了承ください。
















